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The purpose of the thesis is to find the solution for the problems of time and capital in
manufacturing that provide for medium jeans plants. It is found that the problem of the
manufacturing time is that the factory could predict just only the exactly time on some producing
process. In contrast, the factory could not predict the exactly time for the other processes. It can
only give the estimate time deriving from experiences, however, sometime the time for
manufacturing had been delayed. As the consequence of these, it makes some problems for the
factory 1) making the plan for the manufacture and 2) the delay of product delivery. At the same
time, the problem of capital comes from the estimation of the manager’s decision. The manager
always makes a decision from his experience without studying the capital structure in each part.
These increases the capital for the factory and it makes some mistake for the negotiation with
customers. Thus the factory will lose opportunity on trade and currency.

The solutions for these problems are following:

1) Apply the technique of work study to find out the standard time for manufacturing,

2) Analysis the working process to calculate the suitable capital for the factory,

3) Apply two computer programs, Microsoft Access 2003 and Visual Basic 6.0 to
arrange the database system and utilize these programs as a tool for development the calculation

of capital and time for manufacturing.

The result of the research helps the factory to indicate the standard time for pattern
and cutting. From the test of Hypothesis at the significant level of 0.05 comparing the different
time between the standard time and the estimate time deriving from experience with the actual
time from work standard, the result shows that there is no different of the significant level for
pattern. But the incorrecting time for cutting decreases 16.26%. It also decrease 17.65% of the
delay date for submitting goods. Moreover, the total capital from this research is less than the
total of standard capital 5.28%. A capital per unit is less than the standard capital per unit 5.69%

and the outcome is close to the real capital than the standard capital 9.20%.





